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Name: __________________________________



1
Melissa and Joe are playing a game with complex numbers.  If Melissa has a score of [image: image1.png]5—4j



 and Joe has a score of [image: image2.png]3+ 2i



, what is their total score?

	1)
	[image: image3.png]8+ 6i





	2)
	[image: image4.png]8+ 2i





	3)
	[image: image5.png]




	4)
	[image: image6.png]






2
The expression [image: image7.png](3-7)°



 is equivalent to

	1)
	[image: image8.png]-40 + 0i





	2)
	[image: image9.png]-40 - 42;





	3)
	[image: image10.png]58 + 03





	4)
	[image: image11.png]58 —42i







3
The expression [image: image12.png](-1+3)°



 is equivalent to

	1)
	[image: image13.png]-3;





	2)
	[image: image14.png]-2 - 2i





	3)
	[image: image15.png]




	4)
	[image: image16.png]2+ 2i







4
The relationship between voltage, E, current, I, and resistance, Z, is given by the equation [image: image17.png]


.  If a circuit has a current [image: image18.png]


 and a resistance [image: image19.png]


, what is the voltage of this circuit?

	1)
	[image: image20.png]8+1i





	2)
	[image: image21.png]8+ T





	3)
	[image: image22.png]443





	4)
	[image: image23.png]






5
The product of [image: image24.png](22 +51)



 and [image: image25.png](5v2-2)



 is

	1)
	30

	2)
	[image: image26.png]304 21i/2





	3)
	[image: image27.png]304+ 2% /2





	4)
	[image: image28.png]104+ 21i+/2







6
If [image: image29.png]


, [image: image30.png]


, and [image: image31.png]m+i



, the expression [image: image32.png]


 equals

	1)
	[image: image33.png]—12— 12mi





	2)
	[image: image34.png]—f — 6





	3)
	[image: image35.png]12— 12mi





	4)
	[image: image36.png]6 — Gmi







7
The expression [image: image37.png](x+1)? - (x-1)°



 is equivalent to

	1)
	0

	2)
	[image: image38.png]




	3)
	[image: image39.png]-2 + 4xi





	4)
	[image: image40.png]423







8
The complex number [image: image41.png]e+ i



 is equal to [image: image42.png](2+1)°



.  What is the value of c?

9
If x is a real number, express [image: image43.png]2xili - 4i%)



 in simplest [image: image44.png]a + bi



 form.

10
In an electrical circuit, the voltage, E, in volts, the current, I, in amps, and the opposition to the flow of current, called impedance, Z, in ohms, are related by the equation [image: image45.png]


.  A circuit has a current of [image: image46.png]


 amps and an impedance of [image: image47.png]


 ohms.  Determine the voltage in [image: image48.png]a + bi



 form.


1
ANS:
4
REF:
060111b

2
ANS:
2

[image: image49.png]09— 21— 21i + 4%

—42i - 41

—40- 42




REF:
fall0901a2

3
ANS:
4

[image: image50.png](-1 D=1+ -1+ 8) = (- i-i+ (148 = (1= 2 - (- 1+5) =





[image: image51.png]~2i(-1+1) = 2i - 28%

i 2(-1)=2+2




REF:
010219b

4
ANS:
1

[image: image52.png](3+2i)(2-1)

-3+ di- 240

B+i




REF:
060304b

5
ANS:
2

[image: image53.png]= 10af% - 4infZ + 2502 - 107 = 30+ 21342

(2v2+s1)(542-2





REF:
011717a2

6
ANS:
3

[image: image54.png](36)(20)° (s +3)
(3@ + 1)
@A)+ )
C12)(n+i)
—12mi- 128
—12mi+ 12




REF:
061319a2

7
ANS:
4

[image: image55.png](x+1) - (x-1)?

P+t

(- 2+t

4xi




REF:
011327a2

8
ANS:


3.  [image: image56.png](2+1P = (2+0)(2+1) =4+ 4i+4°

+4i




.
REF:
080621b

9
ANS:


[image: image57.png]2xi - 4i%) = 2x - 8x1® = 2m® - Bxi





REF:
011533a2

10
ANS:


[image: image58.png]-7+



.  [image: image59.png]E-1Z





REF:
010325b
